
PELUANG

P(A)=
n(A)

n(S)

Ket:

P(A)=peluangkejadianA

n(A)=banyaktitiksampelkejadianA

n(S)=banyakruangsampelkejadianA

Caramencarititiksampeldanruangsampel:

1.2koin

A=angka

G=gambar

Titiksampel={AA,AG,AG,GG}

Ruangsampel=4

2.2dadu

Titiksampel

={(1,1),

(1,2)………..(6,6)}

Ruangsampel=36

Contohsoal

1.Duakoindilemparsatukalikeatas.Peluangkemunculanmatakoinberlainan

adalah….

2.Duadadudilemparkeatassatukali.Peluangmatadadukembaradalah…

Jawab

Koin1/2 A G

A AA AG

G AG GG

D1/D2 1 2 3 4 5 6

1 1,1 1,2 1,3 1,4 1,5 1,6

2 2,1 2,2 2,3 2,4 2,5 2,6

3 3,1 3,2 3,3 3,4 3,5 3,6

4 4,1 4,2 4,3 4,4 4,5 4,6

5 5,1 5,2 5,3 5,4 5,5 5,6

6 6,1 6,2 6,3 6,4 6,5 6,6
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A.KEGIATANBELAJAR

LihatlahVideoberikut

https://youtu.be/tbTxuUnPU18

B.PERMASALAHAN

1.Tuliskantitiksampeldanruangsampel3koin

2.Duakoindilemparkeatassatukali.Peluangmunculmatakoinkembar

adalah….

3.Duadadudilemparkeatassatukali.Peluangmunculmatadadu

a.Jumlahmatadadukurangdari7?

b.Matadadubilanganprima?

C.UMPANBALIK Tuliskanlangkah-langkahpenyelesaianmasalah


